THSEE RERVEERS

(E25H%)

P 5 N =
1 XA (B M)
" H RO5FE %8 | ROS;RELE 18R e b5 =
=Ei=keod 70,000 64,000 A 6,000 REEHEA 2,000 x 32[ 1%
. SERESK
By Pl 0 0 Ol mipsawigs i tEud
HEE 0 0 0
ke 1,000 0 A 1,000
RHESME 2,000x674 134,000
MU A 40,000 137,696 97,6961 %m= " 3 606
B 139,220 139,220 0
& () 250,220 340,916 90,696
2 XH (Bfz:A)
IH B RO5FE%E | ROSRE%E 18R b5 &=
ERE 115,840 193,994 78,154
0) (0) O|2EHELMEMEHESE AL EE
(0) (0) O[EBEINKETLAMEE & SE
The(LEERN. EMBHE, PER. BBK.
(100,000) (193,994) 93994\ ot g n %)
(0) (0) O|RSERE 1BHMIBHELE Gh—LR—2  FB. A—)L)
(15,840) (0)] A 15840|BENPOEIEE 5B LimE (BEIPERE)
. FEIIBTAA—T+r— ERSE
EER 30000 0] 4 30000 smommimnsy emaon
25 15,000 2,000 A 13000|2E%. ¢E4EELERSE. ANTOVIRE
EHRE 25,000 9,690 A 15310 BEE. MRIE. RAFHHLE
FirE 64,380 0 A 64,380
& (D) 250,220 205,684 A 44,536
(C)-(D)= 135,232 | 6w~ @it




